117 —+ 2m + 273 + 2m + 1.08 +

i
Fensterdffnung i Fensterdfinung
Breite = 1.40m | Breite = 1.40 m
Hihe = 1.26 m ! Héhe = 1,26 m
+ 8.00 ' 8.00 +
+— 143 —— 140 3.43 +— 140 —4— 135 1 1.35 —+— 140 —4 343 +— 140 —+4— 143 —+
i
+ + 4
—— IR —
™ | } |Bad) | | |
. B 1228 3
o : e
L J ! 7 T 1
[
I -
Fensterdffnung | e [ T
Breitle=140m 3 : T Efé}tgéef 1"'-15'1?1
Héhe = 1.26 m - | =  |Hohe=128m
|
| 4
|
i
1
& | 2
f=2] 1 =]
@ | 8
[ ] | ¥
|
|
|
[
|
|
I . 2
|
=] E (=]
= ! =
i
| | .
1
o : B
¥ l' * 4
}
i
1
1

Haus 02 Obergeschoss Haus 01



